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O~ VH$ AmnH$mo `h àíZ-nwpñVH$m ImobZo H$mo Z H$hm Om` V~ VH$ Z Imobo§ &

àíZ nwpñVH$m
{df` H$moS>	 :	 70

{df`	 :	 agm`Z {dkmZ

AZwH«$_m§H$ (A§H$mo§ _|) : 

AZwH«$_m§H$ (eãXm| _|) : ____________________________________________________

Aä`Wr© Ho$ hñVmja

     
H$j {ZarjH$ Ho$ hñVmja

g_` : 2 KÊQ>o	 nyUmªH$ : 200

narjm{W©`m| Ho$ {bE {ZX}e
	 1.	 Bg àíZ-nwpñVH$m _| Xmo ^mJ h¡§ & {OgHo$ àW_ ^mJ _| gm_mÝ` kmZ go gå~pÝYV Hw$b 30 àíZ h¢ & 
	 2.	 Bg àíZ-nwpñVH$m Ho$ {ÛVr` ^mJ _| d¡H$pënH$ {df` go gå~pÝYV Hw$b 70 àíZ h¢ &
	 3.	 Bg àíZ-nwpñVH$m _| 100 àíZm§e (àíZ) {XE JE h¢ & àË òH$ àíZm§e {hÝXr Am¡a A§J«oOr XmoZm| _| N>nm h¡ & àË òH$ àíZm§e Ho$ {bE Mma {dH$ën 

{XE JE h¢ & BZ_| go EH$ {dH$ën H$mo MwZ b|, {Ogo Amn CÎma nÌH$ na A§{H$V H$aZm MmhVo h¢ & `{X AmnH$mo Eogm bJo§ {H$ EH$ go A{YH$ 
{dH$ën ghr h¡§, Vmo Cg {dH$ën H$mo A§{H$V H$a| Omo AmnH$mo gdm}Îm_ bJo§ & àË òH$ àíZm§e Ho$ {bE Ho$db EH$ hr {dH$ën MwZZm h¡ &

	 4.	 narjm àmaå^ hmoZo Ho$ VwaÝV ~mX, Amn Bg àíZ-nw{ñVH$m H$s Om±M Adí` H$a b| {H$ Bg_| H$moB© {~Zm N>nm, H$Q>m ̀ m Ny>Q>m hþAm n¥ï> AWdm àíZm§e 
Am{X Z hmo &

	 5.	 Aä`Wu H$j {ZarjH$ Ûmam {ZX}e XoZo Ho$ CnamÝV hr àíZ-nwpñVH$m H$s grb Imob| &
	 6.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎma XoZo go nhbo àíZ-nwpñVH$m Ed§ CÎma nÌH$ Ho$ g^r AZwXoem| H$mo gmdYmZrnyd©H$ n‹T> b| &
	 7.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) na Aä`Wu AnZm AZwH«$_m§H$, {df`, àíZ-nÌ H$m ghr H$moS>, CÎm[aV àíZm| H$s g§»`m VWm AZwÎm[aV 

àíZm| H$s g§»`m ñdÀN>Vmnyd©H$ {bI| AÝ`Wm CÎma nÌH$ H$m _yë`m§H$Z Zht {H$`m Om`oJm Am¡a gånyU© {Oå_oXmar ñd`§ Aä`Wu H$s hmoJr & 
	 8.	 Aä`Wu ghr CÎma {Z{X©îQ> H$aVo hþE CZ_| go Ho$db EH$ Jmobo AWdm ~~b H$mo CÎma nÌH$ na H$mboo ~m°b ßdmB§Q> noZ go nyam Jham H$a X| & 

EH$ go A{YH$ CÎma XoZo H$s Xem _| CÎma H$mo JbV _mZm Om`oJm Ed§ Cgo Om±Mm Zht Om`oJm &
	 9.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) _| EH$ ~ma Jmobm ^ao OmZo Ho$ ~mX Cg_| {H$gr ^r àH$ma H$m n[adV©Z Zht {H$`m Om`oJm &
	 10.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) H$mo {H$gr àH$ma Z _mo‹S>| &
	 11.	 AmnH$mo AnZo g^r CÎma Ho$db CÎma nÌH$ (Amo. E_. Ama. erQ>) na hr XoZo h¢ & narjm Ho$ Cnam§V CÎma nÌH$ (Amo. E_. Ama. erQ>) H$j 

{ZarjH$ H$mo bm¡Q>m X| &
	 12.	 `{X {hÝXr `m A§J«oOr {ddaU _| H$moB© {dg§J{V hmo, Vmo A§J«oOr {ddaU ApÝV_ _mZm OmEJm &
	 13.	 `{X H$moB© Aä`Wu AZw{MV gmYZ H$m à`moJ H$aVm h¡ `m CgH$m à`mg H$aVm h¡ AWdm narjm H$j _| {H$gr àH$ma H$m ì`dYmZ H$aVm h¡, 

Vmo dh narjm Ho$ {bE A`mo½` Kmo{fV H$a {X`m Om`oJm &
	 14.	 H$moB© ^r Aä`Wu narjm H$j go ~mha Zht Om`oJm O~ VH$ 120 {_ZQ> (Xmo KÊQ>o) nyao Z hmo J`o hmo &
	 15.	 H$moB© ^r a\$ H$m`©, `{X H$moB© hmo, Bg H$m`© hoVw {ZYm©[aV Imbr nÝZm| na hr {H$`m OmZm Mm{h`o & A{V[aŠV nÝZo Zht {X`o Om`o§Jo &
	 16.	 AnZm AZwH«$_m§H$ Am{X {bIZo Ho$ {bE VWm CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎmam| H$mo ^aZo Ho$ {bE Ho$db H$mbo ~m°b ßdmB§Q> noZ H$m à`moJ 

H$a| &

O~ VH$ AmnH$mo `h àíZ-nwpñVH$m ImobZo H$mo Z H$hm Om` V~ VH$ Z Imob| &
Note : The English version of the instructions is printed on the last page of this Question Booklet.
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gm_mÝ` kmZ
General Knowledge

	 1.	 ^maV H$m nhbm gm¡a {_eZ "Am{XË` Eb1' H$~ àjo{nV {H$`m J`m Wm ?
	 (A)	 {gVå~a 2023	 (B)	AŠQy>~a 2024	 (C)	 OyZ 2023	 (D)	 Zdå~a 2023

	 	 When was first solar mission of India ‘Aditya L1’ launched ?

	 (A)	 September 2023	 (B)	 October 2024	 (C)	 June 2023	 (D)	 November 2023

	 2.	 {H$g eha _| n¡am E{e`mB© Iob, 2023 Am`mo{OV {H$`o J`o Wo ?
	 (A)	 ~r{O§J	 (B)	 JwAm§JOm¡	 (C)	 hm§JOm¡	 (D)	 e§KmB©

	 	 In which city Para Asian Games, 2023 were held ?

	 (A)	 Beijing	 (B)	 Guangzhou	 (C)	 Hangzhou	 (D)	 Shanghai

	 3.	 2024 _| ^maVr` à{V^y{V Ed§ {d{Z_` ~moS>© (go~r) H$m AÜ`j {H$go {Z`wŠV {H$`m J`m Wm ?
	 (A)	 AO` Ë`mJr	 (B)	 _mY~r nwar ~wM	 (C)	 `y. Ho$. {gÝhm	 (D)	 S>r. Ama. _ohVm

	 	 Who was appointed as the Chairperson of the Securities and Exchange Board of India (SEBI) in 2024 ?

	 (A)	 Ajay Tyagi	 (B)	 Madhabi Puri Buch	 (C)	 U. K. Sinha	 (D)	 D. R. Mehta

	 4.	 V{_bZmSy> _| EH$ Z`r amOZr{VH$ nmQ>u ""V{_bmJm doQ´>r H$µOJ_'' {H$gHo$ Ûmam ewê$ H$s J`r ?
	 (A)	 H$_b hgZ			   (B)	 aOZrH$m§V
	 (C)	 A{OV Hw$_ma			   (D)	 Omogo\$ {dO` MÝÐeoIa

	 	 Who launched ‘Tamilaga Vettri Kazhagam’, a new political party in Tamil Nadu ?

	 (A)	 Kamal Hasan	 	 	 (B)	 Rajnikant

	 (C)	 Ajith Kumar	 	 	 (D)	 Joseph Vijay Chandrashekhar

	 5.	 19 dm± Or-20 {eIa gå_obZ H$hm± Am`mo{OV {H$`m J`m Wm ?
	 (A)	 ZB© {Xëbr, ^maV			   (B)	 [a`mo {S> OZoamo, ~«mOrb
	 (C)	 OH$mVm©, BÊS>moZo{e`m			   (D)	 _mñH$mo, ê$g

	 	 Where was 19th G-20 Summit held ?

	 (A)	 New Delhi, India	 	 	 (B)	 Rio de Janeiro, Brazil

	 (C)	 Jakarta, Indonesia	 	 	 (D)	 Moscow, Russia

	 6.	 ñdÀN> ^maV A{^`mZ H$s ewéAmV H$~ hþ`r ?
	 (A)	 2 AŠQy>~a, 2014	 (B)	 21 AJñV, 2014	 (C)	 22 OZdar, 2015	 (D)	 28 AJñV, 2014

	 	 When Swachha Bharat Mission was started ?

	 (A)	 2 October, 2014	 (B)	 21 August, 2014	 (C)	 22 January, 2015	 (D)	 28 August, 2014

	 7.	 g_mO{_{V narjU H$m à`moJ gd©àW_ {H$gZo {H$`m Wm ?
	 (A)	 Oo. E. S>o{dg	 (B)	 E. Oo. aoBg	 (C)	 Oo. Eb. _moaoZmo	 (D)	 E. E_. ES>dS>©²g

	 	 Who was the first to apply the sociometric test ?

	 (A)	 J. A. Davis	 (B)	 A. J. Reiss	 (C)	 J. L. Moreno	 (D)	 A. M. Edwards
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	 8.	 {ZåZ{b{IV H$mo EH$ AZwH«$_ _| ì`dpñWV H$s{OE :
	 I.	 àmapå^H$ g_§H$
	 II.	 g_§H$mo H$m àg§ñH$aU
	 III.	 g_§H$mo H$m {díbofU
	 IV.	 g_§H$mo H$m àñVwVrH$aU
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
		  Hy$Q> : 
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV

	 	 Arrange the following in a sequence :
	 I.	 Raw Data
	 II.	 Data Processing
	 III.	 Analysis of Data
	 IV.	 Presentation of Data
	 	 Choose the correct answer from the code given below :
		  Code :
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV

	 9.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ _mZd à{V^m{J`m| H$mo em{_b H$aZo dmbo emoY H$m àmW{_H$ Z¡{VH$ {dMma h¡ ?

	 (A)	 gm§p»`H$s` _hËd gw{ZpíMV H$aZm	 (B)	 {demb à{VXe© AmH$ma àmßV H$aZm

	 (C)	 CÝZV emoY nÕ{V`m| H$m à`moJ H$aZm	 (D)	 à{V^m{J`mo§ H$s Jmon{Z`Vm ~Zm`o aIZm
	 	 Which one among the following is a primary ethical consideration when conducting research involving 

human participants ?
	 (A)	 Ensuring statistical significance	 (B)	 Achieving a large sample size 
	 (C)	 Utilizing advanced research methodology	 (D)	 Maintaining participant anonymity 

	 10.	 ImoOnaH$ A{YJ_ Omo AÝdofU AmYm[aV {ejU H$s {d{Y h¡, {H$gHo$ Ûmam Amaå^ H$s J`r ?
	 (A)	 {d{b`_ Ooåg	 (B)	 Ooamo_ ~«yZa	 (C)	 Om°Z S>odr	 (D)	 OrZ {n`mOo
	 	 Who introduced discovery learning method of inquiry based education ?
	 (A)	 William James	 (B)	 Jerome Bruner	 (C)	 John Dewey	 (D)	 Jean Piaget

	 11.	 {díd{dÚmb` AZwXmZ Am`moJ H$s H$m¡Z-gr nhb CÀM {ejm _| ""{S>{OQ>b b{ZªJ'' H$s MwZm¡{V`m| H$m g_mYmZ H$aZo 
H$m bú` aIVr h¡ ?

	 (A)	 ñdÀN> ^maV A{^`mZ			   (B)	 ^maVr` amîQ´>r` {S>{OQ>b bmB~«oar (NDLI)

	 (C)	 {S>{OQ>b B§{S>`m H$m`©H«$_			   (D)	 B§{Xam Jm±Yr amîQ´>r` _wŠV {díd{dÚmb` (IGNOU)
	 	 Which initiative of UGC aims to address the challenges of “Digital Learning” in higher education ?
	 (A)	 Swachh Bharat Abhiyan	 	 	 (B)	 National Digital Library of India (NDLI)
	 (C)	 Digital India Programme 	 	 	 (D)	 Indira Gandhi National Open University (IGNOU)

	 12.	 Xe_bd g§»`m 10 H$m ~mBZar à{V{Z{YËd Š`m h¡ ?

	 	 What is the binary representation of decimal number 10 ?
	 (A)	 0110	 (B)	 1001	 (C)	 1010	 (D)	 1100
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	 13.	 JrJm~mBQ> eãX H$m VmËn`© h¡ 
	 (A)	 1024 ~mBQ²>g	 (B)	 1024 {H$bmo~mBQ>²g	 (C)	 1024 _oJm~mBQ²>g	 (D)	 1024 JrJm~mBQ²>g

	 	 The term gigabyte refers to 

	 (A)	 1024 bytes	 (B)	 1024 kilobytes	 (C)	 1024 megabytes	 (D)	 1024 gigabytes

	 14.	 Am±H$‹S>m| H$s JUZm hoVw {ZåZ _| go H$m¡Z-gm gmYZ à`wŠV hmoVm h¡ ?
	 (A)	 MS Access (E_. Eg. EŠgog)	 (B) 	MS Excel (E_. Eg. EŠgob)
	 (C)	 Google Docs (JyJb S>mŠg)		 (D)	MS PowerPoint (E_. Eg. nmdanm°B§Q>)

	 	 Which tool is used among the following for data calculation ?

	 (A)	 MS Access	 	 	 (B)	 MS Excel

	 (C)	 Google Docs	 	 	 (D)	 MS PowerPoint

	 15.	 {ZåZ _| H$m¡Z-gm "BZnwQ> {S>dmBg' h¡ ?
	 (A)	 ~ma H$moS> arS>a	 (B)	 _mZrQ>a	 (C)	 àmoOoŠQ>a	 (D)	 ~«ob arS>a

	 	 Which of the following is an ‘input device’ ?

	 (A)	 Bar code reader	 (B)	 Monitor	 (C)	 Projector	 (D)	 Braille reader

	 16.	 n`m©daUr` n[apñW{V`m| _| n{adV©Z Ho$ gå~ÝY _| nm¡Ym| Ho$ _m¡g_r J{V{d{Y`m| Ho$ g_` H$mo H$hm OmVm h¡ 
	 (A)	 nm[apñW{VH$s 			   (B)	 n[aKQ>Zm {dkmZ
	 (C)	 Obdm`w {dkmZ			   (D)	 dm{ZH$s 

	 	 The timing of seasonal activities of plants in relation to change in environmental conditions is referred to as 

	 (A)	 Ecology	 	 	 (B)	 Phenology

	 (C)	 Climatology	 	 	 (D)	 Forestry

	 17.	 "H$mQ>m©OrZm àmoQ>moH$m°b' {ZåZ{b{IV _| go {H$g EH$ go gå~pÝYV h¡ ?
	 (A)	 {damgV ñWbm| go			   (B)	AmÐ©^y{_ go
	 (C)	 Or{dV g§emo{YV Ordm| go			   (D)	AmoµOmoZ naV g§ajU go

	 	 ‘Cartagena Protocol’ is related to which one of the following ?

	 (A)	 Heritage sites	 	 	 (B)	 Wetlands

	 (C)	 Living modified organisms		 	 (D)	 Ozone layer conservation

	 18.	 {ZåZ{b{IV _| go H$m¡Z-gr EH$ ~mµOma AmYm[aV àUmbr h¡ Ohm± H$ån{Z`m± CËgO©Z AZw_{V`m| H$mo IarX Ed§ ~oM gH$Vr h¢ ?
	 (A)	 H$m~©Z ñnog			   (B)	 H$m~©Z {gŠdoñQ´>oeZ	
	 (C)	 H$m~©Z {g§H$			   (D)	 H$m~©Z Q´>o{S>§J

	 	 Which one among the following is a market based system where companies can buy and sell emission 

permits ?

	 (A)	 Carbon Space	 	 	 (B)	 Carbon Sequestration

	 (C)	 Carbon Sink	 	 	 (D)	 Carbon Trading
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	 19.	 {ZåZ{b{IV dm`w_§S>br` J¡gm| H$mo CZHo$ Am`VZ à{VeV Ho$ KQ>Vo H«$_ _| ì`dpñWV H$s{OE &
	 I.	 H$m~©Z S>mBAm°ŠgmBS>
	 II.	 ZmBQ´>moOZ
	 III.	 Am°ŠgrOZ
	 IV.	 Am°J©Z
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
	 	 Hy$Q> : 
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV

	 	 Arrange the following atmospheric gases in order of their volume percentages in descending order.

	 I.	 Carbon dioxide

	 II.	 Nitrogen

	 III.	 Oxygen

	 IV.	 Argon

	 	 Choose the correct answer from the code given below :

		  Code :

	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV

	 20.	 {ZåZ{b{IV J«hm| H$mo CZHo$ H$jr` Ad{Y Ho$ AmYma na KQ>Vo H«$_ _| ì`dpñWV H$s{O`o &
	 1.	 e{Z
	 2.	 _§Jb
	 3.	 ~¥hñn{V
	 4.	 `yaoZg
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
		  Hy$Q> :

	 (A)	 4, 3, 2, 1	 	 	 (B)	 4, 1, 3, 2

	 (C)	 3, 2, 1, 4	 	 	 (D)	 3, 4, 2, 1

	 	 Arrange the following planets in descending order according to their orbital period.

	 1.	 Saturn

	 2.	 Mars

	 3.	 Jupiter

	 4.	 Uranus

	 	 Choose the correct answer from the code given below :

		  Code :

	 (A)	 4, 3, 2, 1	 	 	 (B)	 4, 1, 3, 2

	 (C)	 3, 2, 1, 4	 	 	 (D)	 3, 4, 2, 1
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	 21.	 ZrMo Xmo H$WZ {XE JE h¢, {OZ_| go EH$ H$mo A{^H$WZ (A) VWm Xÿgao H$mo H$maU (R) H$hm J`m h¡ &
		  A{^H$WZ (A) : O~ H$moB© OhmO ZXr go {ZH$bH$a g_wÐ _| àdoe H$aVm h¡, Vmo dh Hw$N> D$na CR> OmVm h¡ &
	 	 H$maU (R) : g_wÐ Ho$ Ob H$m KZËd ZXr Ho$ Ob Ho$ KZËd go A{YH$ h¡ &
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
		  Hy$Q> :
	 (A)	 (A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m H$aVm h¡ 
	 (B)	 (A) Am¡a (R) XmoZm| gË` h¢, naÝVw (R), (A) H$s ghr ì`m»`m Zht H$aVm h¡ 
	 (C)	 (A) gË` h¡, naÝVw (R) JbV h¡
	 (D)	 (A) JbV h¡, naÝVw (R) gË` h¡
	 	 Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
		  Assertion (A) : When a ship leaves a river and enters the ocean it rises a little.
		  Reason (R) : The density of sea water is more than that of river water.
	 	 Select the correct answer from the code given below :
		  Code :
	 (A)	 Both (A) and (R) are true and (R) is the correct explanation of (A)
	 (B)	 Both (A) and (R) are true, but (R) is not the correct explanation of (A)
	 (C)	 (A) is true, but (R) is false
	 (D)	 (A) is false, but (R) is true

	 22.	 {H$g {V{W H$mo A{Ib ^maVr` H$m±J«og g{_{V H$s ~¡R>H$ _| Jm±YrOr Zo H$m±J«o{g`m| go ^maV Ho$ {d^mOZ H$mo ñdrH$ma H$aZo 
H$mo H$hm Wm ?

	 (A)	 14 OyZ, 1947	 (B)	 12 OyZ, 1947	 (C)	 04 OyZ, 1947	 (D)	 03 OyZ, 1947

	 	 On which date Gandhiji asked Congressmen to accept the Partition of India at the All India Congress 
Committee Meeting ?

	 (A)	 14 June, 1947	 (B)	 12 June, 1947	 (C)	 04 June, 1947	 (D)	 03 June, 1947

	 23.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ {df` g_dVu gyMr _| Zht h¡ ?
	 (A)	 {ejm			   (B)	 Ý`m` àemgZ
	 (C)	 ~mQ> Am¡a _mn			   (D)	 bmoH$ ñdmñÏ`
	 	 Which one of the following subjects is not in the concurrent list ?
	 (A)	 Education	 	 	 (B)	 Administration of justice

	 (C)	 Weights and measures	 	 	 (D)	 Public health

	 24.	 _oJmñWZrO {H$gHo$ Xa~ma _| amOXÿV Ho$ ê$n _| Am`m Wm ?
	 (A)	 {~ÝXwgma	 (B)	AemoH$	 (C)	 MÝÐJwßV _m¡`©	 (D)	 ~¥hÐW
	 	 In whose court did Megasthenes come as an ambassador ?
	 (A)	 Bindusar	 (B)	 Ashok	 (C)	 Chandragupta Maurya	 (D)	 Brihadratha

	 25.	 amÁ`m| _| Û¡Y emgZ {H$g df© bmJy {H$`m J`m Wm ?
	 	 In which year Dyarchy was started in the provinces ?
	 (A)	 1909	 (B)	 1919	 (C)	 1935	 (D)	 1937
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	 26.	 ^maVr` g§{dYmZ Ho$ {H$g AZwÀN>oX Ho$ VhV {ejm Ho$ A{YH$ma H$mo _m¡{bH$ A{YH$ma Ho$ ê$n _| Jma§Q>r Xr J`r h¡ ?
	 (A)	 AZwÀN>oX 21(A)			   (B)	AZwÀN>oX 45

	 (C)	 AZwÀN>oX 19			   (D)	AZwÀN>oX 32

	 	 Under which Article of Indian Constitution is the Right to Education guaranteed as Fundamental Right ?

	 (A)	 Article 21(A)	 	 	 (B)	 Article 45

	 (C)	 Article 19	 	 	 (D)	 Article 32

	 27.	 {H$g g§{dYmZ g§emoYZ Ûmam ghH$mar g{_{V`m| H$mo g§d¡Ym{ZH$ XOm© àXmZ {H$`m J`m ?
	 (A)	 96 dm± g§{dYmZ g§emoYZ			   (B)	 97 dm± g§{dYmZ g§emoYZ
	 (C)	 99 dm± g§{dYmZ g§emoYZ			   (D)	 101 dm± g§{dYmZ g§emoYZ

	 	 By which Constitutional Amendment, the Co-operative Societies were given Constitutional status ?

	 (A)	 96th Constitutional Amendment	 (B)	 97th Constitutional Amendment

	 (C)	 99th Constitutional Amendment	 (D)	 101th Constitutional Amendment

	 28.	 H$mo{dS> _hm_mar (2020 – 21) Ho$ Xm¡amZ g~go ~war Vah à^m{dV joÌmo§ H$m H«$_ ^maVr` AW©ì`dñWm Ho$ g§X^© _| 
M`{ZV H$s{O`o &

	 (A)	 H¥${f, godm, CÚmoJ			   (B)	 godm, H¥${f, CÚmoJ
	 (C)	 godm, CÚmoJ, H¥${f			   (D)	 CÚmoJ, godm, H¥${f

	 	 Select the order of worst affected sectors in the context of Indian Economy during Covid Pandemic 

(2020 – 21).

	 (A)	 Agriculture, Service, Industry	 (B)	 Service, Agriculture, Industry

	 (C)	 Service, Industry, Agriculture	 (D)	 Industry, Service, Agriculture

	 29.	 EH$ Vah H$s ~oamoOJmar, {Og_| {H$gr ì`pŠV H$m {H$gr H$m ©̀ _| hmoZm `m Z hmoZm H$moB© AÝVa Zhr§ S>mbVm h¡, H$hbmVr h¡
	 (A)	 Aën amoOJma			   (B)	Am¡nMm[aH$ ~oamoOJmar
	 (C)	 _m¡g_r ~oamoOJmar			   (D)	 àÀN>Þ ~oamoOJmar

	 	 A type of unemployment in which the presence or absence of a person in a job does not make a 

difference, is called

	 (A)	 Under employment	 	 	 (B)	 Formal unemployment

	 (C)	 Seasonal unemployment	 	 	 (D)	 Disguised unemployment

	 30.	 g§Kr` ~OQ> (2025 – 26) Ho$ VhV nhbr ~ma H$ë`mU hoVw gm_m{OH$ gwajm ñH$s_ H$m àñVmd {X`m J`m h¡ 
	 (A)	 {d{Z_m©U joÌ Ho$ l{_H$m| Ho$ {b`o	 (B)	 H¥${f joÌ Ho$ l{_H$m| Ho$ {b`o
	 (C)	 Am°ZbmBZ ßb¡Q>\$m°_© l{_H$mo§ Ho$ {b`o	 (D)	 _{hbm l{_H$m| Ho$ {b`o

	 	 Under the Union Budget (2025 – 26), first time Social Security Scheme for Welfare has been proposed for

	 (A)	 Manufacturing workers	 	 	 (B)	 Agricultural workers

	 (C)	 Online platform workers	 	 	 (D)	 Women workers
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	 31.	 ZrMo Xmo H$WZ {XE h¢, EH$ H$mo A{^H$WZ (A) Am¡a Xÿgao H$mo VH©$ (R) H$hm J`m h¡ : 

		  A{^H$WZ (A) : BF3 EH$ Xw~©b Aåb h¡ BCl3 H$s VwbZm _| &

		  VH©$  (R) : g_Vb BF3 AUw BCl3 H$s VwbZm _|, A{YH$ gr_m VH$ B – X π-~§Y Ho$ Ûmam pñWa hmo OmVm h¡ &

		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| {ZåZm§{H$V {dH$ënm| _| go gdm©{YH$ Cn`wŠV CÎma MwZ| &

	 (A)	 (A) Am¡a (R) XmoZm| ghr h¡ Am¡a (R), (A) H$s ghr ì`m»`m h¡ 

	 (B)	 (A) Am¡a (R) XmoZm| ghr h¡ naÝVw (R), (A) H$s ghr ì`m»`m Zht h¡ 

	 (C)	 (A) ghr h¡, naÝVw (R) JbV h¡ 

	 (D)	 (A) JbV h¡, naÝVw (R) ghr h¡ 

	 	 Given below are two statements, one is labelled as Assertion (A) and other is labelled as Reason (R) :

		A  ssertion (A) : BF3 is a weaker Lewis acid than BCl3.

		R  eason (R) : The planar BF3 molecule is stabilised to a greater extent than BCl3 by B – X Bonding.

	 	 In the light of the above statement choose the correct answer from the options given below :

	 (A)	 Both (A) and (R) are correct and (R) is the correct explanation of (A)

	 (B)	 Both (A) and (R) are correct but (R) is not the correct explanation of (A)

	 (C)	 (A) is correct but (R) is not correct

	 (D)	 (A) is not correct but (R) is correct

	 32.	 {ZåZ{b{IV Am`Zm| na {dMma H$ao§ &

	 1.	 Ni2+	 2.	 Co2+

	 3.	 Cr2+	 4.	 Fe3+

		  (na_mUw g§»`m : Cr = 24, Fe = 26, Co = 27, Ni = 28)

		  A`w½_ BboŠQ´>mZmo§ H$s ~‹T>Vr hþB© g§»`m H$m ghr H«$_ BZ Am`Zm| _| h¡ 
	 (A)	 2, 3, 4, 5	 (B)	 5, 4, 3, 2	 (C)	 4, 2, 3, 5	 (D)	 4, 3, 2, 5

	 	 Consider the following ions.

	 1.	 Ni2+	 2.	 Co2+

	 3.	 Cr2+	 4.	 Fe3+

	 	 (Atomic numbers : Cr = 24, Fe = 26, Co = 27, Ni = 28)

	 	 The correct sequence of increasing order of the number of unpaired electrons in these ions is 

	 (A)	 2, 3, 4, 5	 (B)	 5, 4, 3, 2	 (C)	 4, 2, 3, 5	 (D)	 4, 3, 2, 5

agm`Z {dkmZ
Chemistry
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	 33.	 {ZåZ _| go H$m¡Z-gm {dH$ën CZHo$ gå_wI Cpëb{IV JwU Ho$ AZwgma Zht h¡ ?

	 1.	F2 > Cl2 > Br2 > I2	 –	 AmŠgrH$aU j_Vm

	 2.	F2 > Cl2 > Br2 > I2	 –	 ~§YZ n¥WŠH$aU D$Om©

	 3.	HI < HBr < HCl < HF	 –	 ~§YZ epŠV

	 4.	XeF4 > XeF2 > XeF6 	 –	 EH$m§H$s BboŠQ´>mZ `w½_m| H$s Xe-na_mUw na g§»`m

	 (A)	 Ho$db 2			   (B)	 2 Am¡a 3

	 (C)	 2 Am¡a 4			   (D)	 2, 3 Am¡a 4

	 	 Which of the following option is not in accordance with the property mentioned against them ?

	 1.	F2 > Cl2 > Br2 > I2	 –	 Oxidising power

	 2.	F2 > Cl2 > Br2 > I2	 –	 Bond dissociation enthalpy

	 3.	HI < HBr < HCl < HF	 –	 Bond strength

	 4.	XeF4 > XeF2 > XeF6 	 –	 Number of lone pair on Xe-atom

	 (A)	 Only 2	 	 	 (B)	 2 and 3

	 (C)	 2 and 4	 	 	 (D)	 2, 3 and 4

	 34.	 {ZåZ Am`Z-`w½_m| _| {H$g `w½_ H$m AZwMwå~H$s` AmKyU© g_mZ h¡ ?

	 	 Which of the following pair of ions have same paramagnetic moment ?

	 (A)	 Cu2+, Ti3+	

	 (B)	 Mn2+, Co2+

	 (C)	 Ti4+, Cu2+	

	 (D)	 Ti3+, Ni2+

	 35.	 {OAmobmBQ> ZSM-5 H$m Cn`moJ {ZåZ _| go {H$g `m¡{JH$ Ho$ {Z_m©U _| {H$`m OmVm h¡ ?

	 (A)	 EÝW«m°{gZ			   (B)	AmWm}-Om`°brZ

	 (C)	 n¡am-Om`°brZ			   (D)	 Z¡âWmbrZ

	 	 Zeolite ZSM-5 is used in the manufacture of which of the following compounds ?

	 (A)	 Anthracene	 	 	 (B)	 Ortho-xylene

	 (C)	 Para-xylene	 	 	 (D)	 Naphthalene
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	 36.	 dJ© g_Vbr` g§Hw$bm| _| {dnj à^md H$m Am{X ê$n go H$maU h¡ 

	 (A)	 {Ì{d_r ~mYm			   (B)	 BboŠQ´>m{ZH$ à^md

	 (C)	 Á`m{_Vr` à{V~ÝY			   (D)	 {dbm`H$ nmañn[aH$ {H«$`mE±

	 	 The trans effect in square planar complexes is primarily attributed to 

	 (A)	 Steric hindrance	 	 	 (B)	 Electronic effect

	 (C)	 Geometrical constraints	 	 	 (D)	 Solvent interactions

	 37.	 B.Eg.Ama. _| ~hþVm`V go à`wŠV _mZH$ g§X^© agm`{ZH$ nXmW© h¡ 

	 (A)	 1, 1-S>mB©{\$ZmBb-2-{n{H«$bhmBŚ>}{Ob _wŠV _ybH$ (S>r.nr.nr.EM.)

	 (B)	 Q>oQ´>m{_WmBbgmBboZ (Q>r.E_.Eg.)

	 (C)	 1, 1-S>mB©{\$ZmBb-2-{n{H«$bhmBŚ>m¡pŠgb _wŠV _ybH$

	 (D)	 {nH$[aH$$ Aåb>

	 	 The most widely used standard reference substance in ESR is

	 (A)	 1, 1-diphenyl-2-picrylhydrazyl free radical (DPPH)

	 (B)	 Tetramethylsilane (TMS)

	 (C)	 1, 1-diphenyl-2-picrylhydroxyl free radical

	 (D)	 Picric acid

	 38.	 dmS>o Ho$ {Z`_ H$m à`moJ H$aHo$ B10C2H12 H$s g§aMZm H$s OmZH$mar H$s Om gH$Vr h¡ & B10C2H12 H$s g§aMZm Ed§ 

g_md`{d`m| H$s g§»`m H«$_e: h¡ &

	 (A)	 {ZS>mo Am¡a Xmo	 (B)	 Šbmogmo Am¡a VrZ	 (C)	 Šbmogmo Am¡a Xmo	 (D)	 {ZS>mo Am¡a EH$

	 	 Using Wade’s rule the structure of B10C2H12 can be predicted. The structure and the number of isomers 

of B10C2H12 respectively are

	 (A)	 Nido and Two	 (B)	 Closo and Three	 (C)	 Closo and Two	 (D)	 Nido and One

	 39.	 ICl4
–  Ed§ ICl2

– H$m {~ÝXw g_yh H«$_e: h¡

	 (A)	 D4h Ed§ D2h	 (B)	 C4v Ed§ C2h	 (C)	 D4v Ed§ C2h	 (D)	 D4h Ed§ D∞h

	 	 Point group for ICl4
– and ICl2

– respectively are

	 (A)	 D4h and D2h	 (B)	 C4v and C2h	 (C)	 D4v and C2h	 (D)	 D4h and D∞h
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	 40.	 `{X EH$ AîQ>\$bH$s` Co (II) g§Hw$b H$m Mw§~H$s` AmKyU© 4.0 µB h¡ & g§Hw$b _| Co (II) H$m d-BboŠQ´>m{ZH$  
{dÝ`mg h¡

	 	 If magnetic moment of an octahedral Co (II) complex is 4.0 µB. d-electronic configuration of Co (II) within 

complex is

	 (A)	 t52geg2	 (B)	 t62g eg1	 (C)	 t32g	 (D)	 t32g eg1

	 41.	 XeF3
+  {ZåZ _| {H$g AXnEm Zm_H$aU go g§~§{YV h¡ ? 

		  (A = Ho$ÝÐr` na_mUw, X = EH$b Am~§Y {bJ¡ÊS> Ed§ E = Agh^m{OV BboŠQ´>mZ `w½_) &

	 	 XeF3
+ is related to which one of the following AxnEm nomenclatures ? 

(A = central atom, X = singly bounded ligand and E = an unshared electron pair).

	 (A)	 Ax3E0	 (B)	 Ax3E1	 (C)	 Ax3E2	 (D)	 Ax3E3

	 42.	 {ZåZ _| go H$m¡Z-gm {ZS>mo-H$m~m}aoZ H$m CXmhaU h¡ ?

	 	 Which of the following is an example of nido-carborane ?

	 (A)	 C4B2H6			   (B)	 C2B8H10

	 (C)	 C2B7H13			   (D)	 C2B10H12

	 43.	 C3 Ed§ sh _¡Q´>rŠg ZrMo Xr JB© h¡ 

		  C h3

1
2

3
2

0

3
2

1
2 0

0 0 1

1 0 0
0 1 0
0 0 1

=

− −

−



























=
−










σ







, S3
2  _¡{Q´Šg Ho$ {bE Q´>og h¡  

	 	 Given the matrices for C3 and sh below 

		  C h3

1
2

3
2

0

3
2

1
2 0

0 0 1

1 0 0
0 1 0
0 0 1

=

− −

−



























=
−










σ







, the trace of matrix representing S3
2 is

	 (A)	 0	 (B)	 –2	 (C)	 1	 (D)	 –1
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	 44.	 ZrMo Xmo H$WZ {XE JE h¢, EH$ H$mo A{^H$WZ (A) Am¡a Xygao H$mo VH©$ (R) H$hm J`m h¡ &

		  A{^H$WZ (A) : KMnO4 VWm K2Cr2O7 Vrd« a§JrZ `m¡{JH$ h¡ &

		  VH©$ (R) : g§H«$_U YmVw `m¡{JH$ {OZHo$ d-H$jH$ _| BboŠQ́>mZ hmoVo h¢, do d-d g§H«$_U Ho$ H$maU a§JrZ hmoVo h¢ &

		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| {ZåZm§{H$V {dH$ënm| _| go gdm©{YH$ Cn`wŠV CÎma MwZo§ &

	 (A)	 (A) Am¡a (R) XmoZm| ghr h¡ Am¡a (R), (A) H$s ghr ì`m»`m h¡ 

	 (B)	 (A) Am¡a (R) XmoZm| ghr h¡ naÝVw (R), (A) H$s ghr ì`m»`m Zht h¡ 

	 (C)	 (A) ghr h¡ naÝVw (R) JbV h¡ 

	 (D)	 (A) ghr Zht h¡ naÝVw (R) ghr h¡ 

	 	 Given below are two statements, one is labelled as Assertion (A) and other is labelled as Reason (R).
		A  ssertion (A) : KMnO4 and K2Cr2O7 are intensely coloured compounds.
		R  eason (R) : Transition metal compounds having electrons in d-orbitals are coloured due to d-d 

transition.
	 	 In the light of the above statements choose the correct answer from the options given below.  

	 (A)	 Both (A) and (R) are correct and (R) is the correct explanation of (A)

	 (B)	 Both (A) and (R) are correct but (R) is not the correct explanation of (A)

	 (C)	 (A) is correct but (R) is not correct

	 (D)	 (A) is not correct but (R) is correct

	 45.	 EÝOmB_ CËào{aV A{^{H«$`m Ho$ _mBHo${bg Ed§ _oÝQ>oZ {H«$`m{d{Y Ho$ {bE 

	 a.	 _mBHo${bg pñWam§H$  K K K
Km =
+−1 2

1
	 b.	 {H«$`mYma Ho$ gmnoj _| A{^{H«$`m H$s H$mo{Q> EH$ h¡, `{X [s] > > Km 

	 c.	 K2 Q>Z©Amoda g§»`m H$hbmVr h¡ 

	 d.	 Km H$s BH$mB© dm–3 mol hmoVr h¡ 

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE &

	 (A)	 Ho$db a, b, c	 (B)	 Ho$db a, c, d	 (C)	 Ho$db b, c, d	 (D)	 Ho$db a, b, d

	 	 For the Michaelis and Menten mechanism of enzyme catalyzed reaction 

	 a.	 Michaelis constant K
K K

Km =
+−1 2

1

	 b.	 The order of reaction with respect to substrate is one, when [s] > > Km
	 c.	 K2 is called the turnover number

	 d.	 Unit of Km in dm
–3 mol

	 	 Choose the correct answer from the options given below.

	 (A)	 Only a, b, c	 (B)	 Only a, c, d	 (C)	 Only b, c, d	 (D)	 Only a, b, d
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	 46.	 H$mb_ – I Am¡a H$mb_ – II H$m {_bmZ H$a ghr {dH$ën MwZo &

		 H$mb_ – I		 H$mb_ – II

	 a.	{dpëH§$gZ CËàoaH$ 	 1.	Q´>m§g IrCl(CO) (PPh3)2	

	 b.	ñnr`g© CËàoaH$	 2.	hmBS´>mo{gbmBboeZ

	 c.	Ob J¡g {eâQ> CËàoaH$ 	 3.	RhCl(PPh3)3

	 d.	{O`mobmBQ> ZSM-5 CËàoaH$	 4.	 {g§Wo{Q>H$ J¡gmo{bZ

			  5.	 {O§H$-H$mna AmŠgmBS>
	 (A)	 a – 3, b – 2, c – 5, d – 4	 	
	 (B)	 a – 3, b – 4, c – 1, d – 2

	 (C)	 a – 5, b – 1, c – 3, d – 4	 	

	 (D)	 a – 2, b – 3, c – 4, d – 5

	 	 Match the Column – I and Column – II and choose the correct option.

		 Column – I		 Column – II

	 a.	Wilkinson’s catalyst 	 1.	Trans IrCl(CO) (PPh3)2	

	 b.	Speier’s catalyst	 2.	Hydrosilyation

	 c.	Water gas shift catalyst 	 3.	RhCl(PPh3)3
	 d.	Zeolite ZSM-5 catalyst	 4.	Synthetic gasoline

	 		 5.	Zinc-copper oxide	

	 (A)	 a – 3, b – 2, c – 5, d – 4	 	

	 (B)	 a – 3, b – 4, c – 1, d – 2

	 (C)	 a – 5, b – 1, c – 3, d – 4	 	

	 (D)	 a – 2, b – 3, c – 4, d – 5

	 47.	 gmB_Ýg-pñ_W A{^{H«$`m _| H$m¡Z-gm _Ü`dVu à`moJ hmoVm h¡ ?

	 (A)	 H$m~o©{Z`Z			   (B)	 _wŠV _ybH$

	 (C)	 H$m~uZ			   (D)	 H$m~m}Ho$Q>m`Z

	 	 Simmons-Smith reaction uses which reaction intermediate ?

	 (A)	 Carbanion	 	 	 (B)	 Free radicals

	 (C)	 Carbene	 	 	 (D)	 Carbocation

	 48.	 {ZåZ{b{IV _| go H$m¡Z-gm H$jH$ Va§J \$bZ k5/2p–1/2 re–kr sinqe–iθ Ûmam {Zê${nV {H$`m OmVm h¡ ?

	 	 Which of the following orbital is represented by the wave function k5/2p–1/2 re–kr sinqe–iθ ?
	 (A)	 1s	 (B)	 2p	 (C)	 3d	 (D)	 4f
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	 49.	 [Ti(H2O)6]3+ Ho$ Ñí` joÌ _| BboŠQ´>mZ AdemofU ñnoŠQ´>_ _| Ag_{_{V H$m H$maU h¡ 

	 (A)	Amdoe ñWmZm§VaU	 	 	 (B)	 t2 → e	

	 (C)	 e → t2			   (D)	 Om°Z-Q>oba à^md

	 	 The asymmetry in the electron absorption spectrum in the visible region of [Ti(H2O)6]3+ is caused by 
	 (A)	 Charge-transfer	 	 	 (B)	 t2 → e	
	 (C)	 e → t2	 	 	 (D)	 Jahn-Teller effect

	 50.	 {ZåZ{b{IV _| go {H$g Omo‹S>o _| g_mZ ~§Y H«$_ h¡ ?

	 a.	 N2
+ Ed§ O2

+

	 b.	 F2 Ed§ Ne2

	 c.	 O2
2– Ed§ B2

	 d.	 C2 Ed§ N2

		
ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE &

	 (A)	 Ho$db a			   (B)	 Ho$db b, d

	 (C)	 Ho$db c	 	 	 (D)	 Ho$db a, c

	 	 Which of the following pairs have identical bond orders ?

	 a.	 N2
+ and O2

+

	 b.	 F2 and Ne2

	 c.	 O2
2– and B2

	 d.	 C2 and N2

		  Choose the correct answer from the options given below.
	 (A)	 only a	 	 	 (B)	 only b, d
	 (C)	 only c	 	 	 (D)	 only a, c

	 51.	 S3 Ho$ Ûmam {H$VZo {g_oQ́>r AmnaoeZ CËnÞ hm|Jo ?
	 	 How many symmetry operations are generated by S3 ?
	 (A)	 6	 (B)	 3	 (C)	 2	 (D)	 5

	 52.	 AH$m~©{ZH$ ~oÝOrZ Š`m h¡ ?

	 (A)	 ~moamoZ			   (B)	 ~moaoŠg

	 (C)	 ~moamobrZ			   (D)	 ~moam{OZ

	 	 What is inorganic benzene ?
	 (A)	 Boron	 	 	 (B)	 Borax
	 (C)	 Boroline	 	 	 (D)	 Borazine
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	 53.	 gyMr – I (VZZ) H$mo gyMr – II(bJ^J cm–1) go {_bmBE VWm gy{M`m| Ho$ ZrMo {XE JE H$moS> H$m à`moJ H$aVo hþE CÎma 
Mw{ZE &

	 	 gyMr – I		  gyMr – II

	 a.	 > N – H	 1.	 2250 cm–1

	 b.	 – C ≡ N	 2.	 3300 cm–1

	 c.	 – SH	 3.	 2270 cm–1

	 d.	 – COOR	 4.	 1735 cm–1

	  	  H$moS> :
	 	 a	 b	 c	 d
	 (A)	 1	 2	 3	 4

	 (B)	 2	 1	 3	 4

	 (C)	 2	 3	 1	 4

	 (D)	 3	 1	 2	 4

	 	 Match List – I (stretching) with List – II (approximately cm–1) and select the answer using the codes given 
below the lists.

	 	L ist – I		L  ist – II
	 a.	 > N – H	 1.	 2250 cm–1

	 b.	 – C ≡ N	 2.	 3300 cm–1

	 c.	 – SH	 3.	 2270 cm–1

	 d.	 – COOR	 4.	 1735 cm–1

		  Codes :
	 	 a	 b	 c	 d
	 (A)	 1	 2	 3	 4

	 (B)	 2	 1	 3	 4

	 (C)	 2	 3	 1	 4

	 (D)	 3	 1	 2	 4

	 54.	 {ZåZ _| go H$m¡Z-gm SN2 A{^{H«$`m Ho$ {bE A{YH$V_ {H«$`merb hmoJm ?

	 	 Which one of the following will be most reactive for SN2 reaction ?

	 (A)	 Cl 			   (B)	

Cl

	 (C)	

Cl

			   (D)	
Cl
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	 55.	 H2SO4 H$s CnpñW{V _| 2-ã`wQ>oZmob go Ob H$m {dbmonZ H$aHo$ H$m¡Z-gm à_wI CËnmX ~ZVm h¡ ?

	 	 The elimination of water from 2-butanol in presence of H2SO4, the major product formed is

	 (A)	 CH3 – CH2 – CH = CH2		  	 (B)	 CH3 – CH = CH – CH3

	 (C)	 CH2 = CH – CH = CH2		  	 (D)	 (CH3)2— C = CH2

	 56.	 {narS>rZ 300°C na KNO3 Am¡a H2SO4 Ho$ {_lU Ho$ gmW A{^{H«$`m H$aZo na XoVm h¡ 

	 (A)	 1-ZmBQ´>mo{narS>rZ			   (B)	 2-ZmBQ´>mo{narS>rZ

	 (C)	 3-ZmBQ´>mo{narS>rZ			   (D)	 4-ZmBQ´>mo{narS>rZ

	 	 Pyridine reacts with a mixture of KNO3 and H2SO4 at 300°C to give

	 (A)	 1-nitropyridine	 	 	 (B)	 2-nitropyridine

	 (C)	 3-nitropyridine	 	 	 (D)	 4-nitropyridine

	 57.	 {ZåZ{b{IV A{^{H«$`m _| à_wI CËnmX X Š`m hmoJm ?

		
D

X

OAC

	 	 Give the major product X of the following reaction.

		
D

X

OAC

	 (A)	 	 (B)	

	 (C)	 		 (D)	
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	 58.	 {ZåZ{b{IV A{^{H«$`m _| CËnmX X h¡

		  O
+ O2  X

	 	 In the following reaction, product X is

		  O
+ O2  X

	 (A)	
O CHO

			   (B)	

O

CHO

	 (C)	 O
O – O 

– H
		  (D)	

O

O – O – H

	 59.	 {ZåZ{b{IV A{^{H«$`m _| à_wI CËnmX h¡

		

O
LiN(C2H5)2

(C2H5)2O

hoŠgoZ
[aâbŠg

CËnmX

	 	 In the following reaction, the main product is

		

O
LiN(C2H5)2

(C2H5)2O

hexane
reflux

Product

	 (A)	

OH

	 (B)	
OH

	 (C)	

OH

	 (D)	
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	 60.	 {ZåZ{b{IV A{^{H«$`m _| CËnmX B h¡

		
O

CHO

+ NH2 – CH2

O

O
A H+

D B

	 	 In the following reaction, product B is

		
O

CHO

+ NH2 – CH2

O

O
A H+

D B

	 (A)	
O

N
H

O
			   (B)	

N

O O

	 (C)	

N
H

O O

OH

	 (D)	 N
O O

	 61.	 {ZåZ ê$nmÝVaU H$mo à^m{dV H$aZo Ho$ {bE A{^H$_©H$ h¡

		     

O

C — OC2H5

O ?
H

C — OC2H5

O
OH

	 	 The reagent for effecting the following transformation is

		     

O

C — OC2H5

O ?

H

C — OC2H5

O
OH

	 (A)	 LiAlH4	 	 	 (B)	 NaBH4

	 (C)	 B2H6	 	 	 (D)	 NaNH2
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	 62.	 [Pt Cl4]2
 
Ed§ NH3 H$s A{^{H«$`m Ho$ CnamÝV H$m¡Z-gm CËnmX àmßV hmoVm h¡ ?

	 	 Which one among the following product is formed after the reaction of [Pt Cl4]2   with NH3 ?

	 (A)	 [PtCl4(NH3)2]2  			   (B)	 trans – [PtCl2(NH3)2]

	 (C)	 [PtCl2(NH3)4]	 	 	 (D)	 cis – [PtCl2(NH3)2]

	 63.	 Ho$db pñnZ _¡½Zo{Q>H$ _mo_|Q> H$m àË`m{eV _mZ [Fe(CN)6]4  Ed§ [FeF6]3   Ho$ {bE H«$_e: h¡

	 	 The expected value of spin-only magnetic moment for [Fe(CN)6]4  and [FeF6]3  respectively are

	 (A)	 1.73, 1.73 BM	 	 	 (B)	 1.73, 5.92 BM
	 (C)	 0.0, 1.73 BM	 	 	 (D)	 0.0, 5.92 BM

	 64.	 O~ {dÚwV AnKQ²>` gmÝÐU gob H$m`© H$aVm h¡, Vmo gob H$m {d.dm.~.

	 (A)	 n{ad{V©V Zht hmoVm h¡ 			   (B)	 ~‹T>Vm h¡ 

	 (C)	 eyÝ` hmo OmVm h¡ 			   (D)	 KQ>Vm h¡ 

	 	 When electrolyte concentration cell functions, E.M.F. of the cell

	 (A)	 does not change	 	 	 (B)	 increases

	 (C)	 becomes zero	 	 	 (D)	 decreases

	 65.	 Mma J¡a-A§V:{H«$`mË_H$ He na_mUwAm| na {dMma H$ao§, {OZ_| go àË`oH$ VrZ D$Om© ñVam| O, E Ed§ 2E na H$ãOm H$a 
gH$Vm h¡ & Hw$b D$Om© Etotal = 3E dmbo _mBH«$moñQ>oQ²>g H$s g§»`m h¡

	 	 Consider four non-interacting He atoms, each of which can occupy three energy levels O, E and 2E. The 
number of microstates having total energy Etotal = 3E is

	 (A)	 4	 (B)	 12	 (C)	 2	 (D)	 16

	 66.	 ~mog-AmB§ñQ>rZ gm§p»`H$s h¡

	 (A)	 {d^oÚ H$Um| Ho$ {bE 			   (B)	 J¡a-g_{_V H$Um| Ho$ {bE 

	 (C)	AY©-nyUmªH$ pñnZ dmbo H$Um| Ho$ {bE 	 (D)	 nyUmªH$ pñnZ dmbo H$Um| Ho$ {bE 

	 	 Bose-Einstein statistics is for

	 (A)	 Distinguishable particles		 	 (B)	 Non-symmetrical particles

	 (C)	 Particles with half-integral spin	 (D)	 Particles with integral spin

	 67.	 ñ\w$aXrpßV H$mo àX{e©V H$aVo h¢
	 	 Phosphorescence is represented as

	 (A)	 T1 → S0 + hγ	 	 	 (B)	 T1 → S0 + ∆
	 (C)	 S1 → S0 + hγ			   (D)	 S1 → T1 + ∆
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	 68.	 {ZåZ àmoQ>rZ/EÝOmE_ _| go {H$g_| bm¡h YmVw Zht h¡ ?

	 (A)	 gmBQ>moH«$mo_ P450			   (B)	 nmBamoH¡$Q>oHo$g

	 (C)	 {Q´>ßQ>mo\$Z S>mBAmŠgrOrZoO			   (D)	 H¡$Q>oboO

	 	 Which of the following protein/enzyme does not contain iron metal ?

	 (A)	 Cytochrome P450	 	 	 (B)	 Pyrocatechase

	 (C)	 Tryptophane dioxygenase		 (D)	 Catalase

	 69.	 {ZåZ A{^{H«$`m Ho$ {bE

		
A B

k

k
1

1−
 

 

		  doJ pñWam§H$ k1 VWm k–1 Ho$ g§X^© _| {dlm§{V H$mb T H$mo àH$Q> {H$`m OmVm h¡

	 	 For the following reaction

		
A B

k

k
1

1−
 

 

	 	 The relaxation time T in terms of rate constants k1 and k–1 can be expressed as

	 (A)	 T = k1 + k–1	 	 	 (B)	 T = (k1 + k–1)–1

	 (C)	 T = (k1 + k–1)2		  	 (D)	 T = (k1 + k–1)–2

	 70.	 {ZåZ{b{IV _| go H$m¡Z-gm Eå~rS>oÝQ> Ý`yŠbr`mo\$mBb h¡ ?

	 	 Which one of the following is ambident nucleophile ?

	 (A)	 CH3	 (B)	 PH3	 (C)	 H2O	 (D)	 CN

	 71.	 `m¡{JH$ (I) _| {MpÝhV H$m~©Z na_mUwAm| x, y, z Am¡a p Ho$ 13C EZ.E_.Ama. _| amgm`{ZH$ {dñVaU H$m KQ>Vm H«$_ h¡

		
HC ≡ C OCH3x y z p

	 	 The decreasing order of 13C NMR chemical shifts of the marked carbon atoms x, y, z and p in 
compound (I) is

		
HC ≡ C OCH3x y z p

	 (A)	 z > y > x > p	 	 	 (B)	 z > x > y > p

	 (C)	 y > z > x > p	 	 	 (D)	 y > p > z > x
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	 72.	 ZmBQ´>mo{OZog EÝOmB_ H$mo-\¡$ŠQ>a Ho$ g{H«$` gmBQ> _| _m¡OyX YmVw Am`Z Bg àH$ma h¡ 

	 	 The metal ion present in the active site of nitrogenase enzyme co-factor are

	 (A)	 Fe, Mo	 (B)	 Fe, W	 (C)	 Fe, Cu	 (D)	 Fe, Ni

	 73.	 Šbm{g`g-Šbo{n`amZ g_rH$aU l
P

P

H

R

T T

T T
vapn 2

1

2 1

1 2

= −
−











∆
 Ho$ AZwà`moÁ` hmoZo Ho$ {bE {ZåZm§{H$V 

		  H$WZm| _| H$m¡Z-gm ghr Zht h¡ ?

	 (A)	 `h {H$gr Ðd Ho$ dmîn Xm~ na Vmn H$m à^md ~VbmVm h¡ 

	 (B)	 `h {H$gr Ðd Ho$ ŠdWZm§H$ na Xm~ H$m à^md ~VbmVm h¡ 

	 (C)	 `h R>mog-Ðd gmå`dñWm _| AZwà`moÁ` h¡ 

	 (D)	 `h ~VmVm h¡ {H$ O¡go AÝVaAmUw{dH$ ~b ~‹T>Vm h¡, ∆Hvap ^r ~‹T>Vm h¡ {Oggo ŠdWZm§H$ _| H$_r hmoVr h¡ 

	 	 The Clausius-Clapeyron equation l
P

P

H

R

T T

T T
vapn 2

1

2 1

1 2

= −
−











∆
 for the applicability of this equation which 

	 	 one of the following statement is not correct ?

	 (A)	 It tells the effect of temperature on the vapour pressure of a liquid

	 (B)	 It tells the effect of pressure on the boiling point of a liquid

	 (C)	 It is applicable in case of solid-liquid equilibrium

	 (D)	 It tells that as intermolecular forces increases, ∆Hvap also increases which results in lowering the 
boiling point 

	 74.	 {ZåZ{b{IV {H«$ñQ>b _| {H$VZo ~«md¡g b¡{Q>g _m¡OyX h¡ ?

	 	 a = amoå~moh¡S´>b

	 	 b = Q´>mBpŠb{ZH$

	 	 c = fQ>H$moUr`

	 	 How many Bravai’s lattices are present in the following crystals ?

	 	 a = Rhombohedral

	 	 b = Triclinic

	 	 c = Hexagonal

	 (A)	 a = 2	 b = 1	 c = 3	 (B)	 a = 1	 b = 1	 c = 1

	 (C)	 a = 1	 b = 1	 c = 3	 (D)	 a = 2	 b = 1	 c = 1
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	 75.	 S>r~mB©-T3 {Z`_ H$mo {ZåZ g_rH$aU Ûmam {X`m OmVm h¡ 

	 	 Debye’s T3 law is given by the following equation 

	 (A)	 C
R

Tv
D

=
12
5

4
3

3
π

θ
			   (B)	 C

R
Tv

D=
5

12
4

3
3

π
θ

	 (C)	 C
R

Tv
D

=
7
5

4
2

3
π

θ
			   (D)	 C

R
Tv

D

=
5
7

4
2

3
π

θ

	 76.	 0.01 _mob NaOH H$mo EH$ brQ>a ~\$a {db`Z _| {_bmZo na {Og_o§ 0.1 _mob Egr{Q>H$ Aåb Am¡a 0.1 _mob gmo{S>`_ 
EgrQ>oQ> {_bmZo Ho$ nyd© Am¡a ~mX _| pH _mZ hmoJm 

		  E{g{Q>H$ Aåb H$m {d`moOZ pñWam§H$ 1.75 × 10–5 h¡ 

	 	 The pH before and after the addition of 0.01 mole of NaOH to one litre of buffer solution that is 0.1 mole 

in acetic acid and 0.1 mole sodium acetate will be 

	 	 The dissociation constant of acetic acid is 1.75 × 10–5

	 (A)	 4.76, 4.847	 	 	 (B)	 4.96, 5.012
	 (C)	 4.64, 4.72	 	 	 (D)	 4.52, 4.60

	 77.	 PCl5 H$m {~ÝXþ g_yh h¡

	 	 The point group of PCl5 molecule is 

	 (A)	 C5v			   (B)	 D3h

	 (C)	 D5h			   (D)	 D5d

	 78.	 Xmo [aâboŠeZ H$m g§`moOZ σ σ′ ′′v v  Omo {H$ {H$gr BÝQ>agopŠQ>¨J {_aa ßboZ Ho$ {JX© hmo dh BgHo$ ~am~a hmoVm h¡ 

	 	 The combination of two reflections σ σ′ ′′v v  about an intersecting mirror plane is equivalent to

	 (A)	 Sn			   (B)	 Cn

	 (C)	 δn	 	 	 (D)	 i

	 79.	 {ZåZ{b{IV _| go H$m¡Z-gm Bb¡ŠQ́>m{ZH$ {dÝ`mg, J{VH$s ê$n go A{H«$` AîQ>\$bH$s` `m¡{JH$ XoVm h¡ ?

	 	 Which of the following electronic configuration gives kinetically inert octahedral complexes ?

	 (A)	 t2g
6 eg0	 	 	 (B)	 t2g

3  
eg1

	 (C)	 t2g
5  
eg0	 	 	 (D)	 t2g

6  
eg4
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	 80.	 gm_mÝ` {g{bHo$Q> F$Um`Z H$m ghr gyÌ H$m¡Z-gm h¡ ?

	 	 Which one is the correct formula of simple silicate anion ?

	 (A)	 (Si4O)
4+	 (B)	 (SiO4)4–	 (C)	 SiO2

2–	 (D)	 SiO3–

	 81.	 {dÚwV AnKQ²>` H$s AZÝV VZwVm na Vwë`m§H$ MmbH$Vm, {dÚwV AnKQ²>` H$mo ~ZmZo dmbo YZm`Z Am¡a F$Um`Z H$s Vwë`m§H$ 
Am`Zr MmbH$Vm H«$_e: λ∞, λc Am¡a λa h¡ & BZHo$ ~rM ghr gå~ÝY Š`m h¡ ?

	 	 Equivalent conductance of an electrolyte and equivalent ionic conductances for cations and anions forming 

electrolyte are λ∞, λc and λa at infinite dilution respectively. What is the correct relationship between these ?

	 (A)	 λ λ λ∞ ÷ ×( ) =c a 1			   (B)	 λ λ λ∞ × ×( ) =c a 1

	 (C)	 λ λ λ∞ ÷ +( ) =c a 1			   (D)	 λ λ λ∞ ÷ −( ) =c a 1

	 82.	 {ZåZ amo{~ÝgZ EZyboeZ _| _w»` CËnmX P  h¡ 

		

PX

1.CH3

o

NH

2. NaOAC, ACOH

o

CH3

	 	 In the following Robinson annulation, the major product P  is 

		

PX

1.CH3

o

NH

2. NaOAC, ACOH

o

CH3

	 (A)	

CH3

o
			   (B)	

CH3

o

	 (C)	

CH3

o

			   (D)	

CH3

o
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	 83.	 {ZåZ{b{IV `m¡{JH$m| H$mo CZHo$ SN1 A{^{H«$`m Ho$ KQ>Vo H«$_ _| ì`dpñWV H$s{OE &

	 1.	

Br

	 2.	

Br

	 3.	

Br

	 4.	

Br

o

	 (A)	 3 > 1 > 2 > 4 	 (B)	 1 > 3 > 2 > 4 	 (C)	 4 > 1 > 2 > 3 	 (D)	 3 > 1 > 4 > 2

	 	 Arrange the following compounds in decreasing order of their SN1 reaction. 

	 1.	

Br

	 2.	

Br

	 3.	

Br

	 4.	

Br

o

	 (A)	 3 > 1 > 2 > 4 	 (B)	 1 > 3 > 2 > 4 	 (C)	 4 > 1 > 2 > 3 	 (D)	 3 > 1 > 4 > 2
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	 84.	 {ZåZ _| go H$m¡Z-go Am`Z Eamo_¡{Q>H$ h¡ ?

	 I.	

H

– 	 	 	 II.	
+

+

	 III.	

–

	 	 	 IV.	

H

+

	 V.	

–2

	

	 (A)	 I, II, III 	 (B)	 II, IV, V	 (C)	 I, II, IV, V 	 (D)	 II, III, IV, V

	 	 Which of the following ions are aromatic ?

	 I.	

H

– 	 	 	 II.	
+

+

	 III.	

–

	 	 	 IV.	

H

+

	 V.	

–2

	

	 (A)	 I, II, III 	 (B)	 II, IV, V	 (C)	 I, II, IV, V 	 (D)	 II, III, IV, V
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	 85.	 TGA _| _m{nV JwU hmoVm h¡ 

	 (A)	 Vmn_mZ _| n[adV©Z			   (B)	 CËg{O©V `m Ademo{fV Cî_m _| n[adV©Z

	 (C)	 ^ma _| n[adV©Z H$s Xa 			   (D)	 ^ma _| n[adV©Z 

	 	 The property measured in TGA is 

	 (A)	 Change in temperature	 	 	 (B)	 Change in heat evolved or absorbed 

	 (C)	 Rate of change in weight 	 	 (D)	 Change in weight

	 86.	 nmoboamoJ«m\$sH$ _mn Ho$ g_` {Obo{Q>Z Š`m| {_bm`m OmVm h¡ ? 

	 (A)	 {JaVr hþB© _aH$ar H$s ~±yX H$s àdmh J{V H$_ H$aZo Ho$ {bE 

	 (B)	 í`mZVm _| H$_r H$aZo Ho$ {bE 

	 (C)	Adeof àdmh IË_ H$aZo Ho$ {bE 

	 (D)	Hg H$m AmŠgrH$aU amoH$Zo Ho$ {bE 

	 	 Why gelatin is added during polarographic measurements ?

	 (A)	 To reduce streaming motion of falling mercury drop

	 (B)	 To decrease viscosity of solution 

	 (C)	 To eliminate residual current 

	 (D)	 To prevent oxidation of Hg

	 87.	 VËdm| H$s {dÚwV F$UmË_H$Vm H$m ~‹T>Vm hþAm AZwH«$_ h¡ 

	 	 Increasing order of electronegativity of the elements is 

	 (A)	 C, N, Si, P 	 	 	 (B)	 N, Si, C, P

	 (C)	 Si, P, C, N 	 	 	 (D)	 P, Si, C, N

	 88.	 hmBS´>moOZ na_mUw Ho$ àW_ H$jm H$s {ÌÁ`m h¡ 

	 	 The radius of the first orbit for hydrogen atom is 

	 (A)	 0.53 × 10–8 cm 	 	 	 (B)	 0.53 × 10–9 cm

	 (C)	 0.53 × 10–10 cm	 	 	 (D)	 0.53 cm

	 89.	 10000 Ed§ 20000 AmU{dH$ ^ma dmbo g_mZ g§»`m _| H$Um| dmbo {gñQ>_ Ho$ {bE Mw  H$m _mZ hmoJm 

	 	 The value of Mw  for a system containing equal number of particles with molecular weight 10000 and 
20000 will be 

	 (A)	 18182	 (B)	 16667	 (C)	 15667	 (D)	 16182
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	 90.	 J«o\$mBQ> _| H$m~©Z na_mUw g§H$[aV hmoVm h¡ 

	 	 Carbon atom in graphite is hybridised 

	 (A)	 sp	 (B)	 sp2	 (C)	 sp3 	 (D)	 dsp2

	 91.	 {ZåZ{b{IV ñnrerO _| H$m¡Z-gm namMwå~H$s` h¡ ?

	 	 Which of the following species is paramagnetic ?

	 (A)	 O2	 (B)	 N2	 (C)	 CO	 (D)	 NO
⊕

	 92.	 EŠg-ao {ddV©Z {ZåZ _| go {H$gHo$ {bE g§aMZmË_H$ OmZH$mar Zht Xo gH$Vm ?

	 (A)	 YmpËdH$ R>mog Ho$ ~mao _| 			   (B)	Am`{ZH$ R>mog Ho$ ~mao _| 

	 (C)	AmU{dH$ R>mog Ho$ ~mao _| 			   (D)	AZmH$ma R>mog Ho$ ~mao _| 

	 	 X-ray diffraction does not give any structural information for

	 (A)	 Metallic solids	 	 	 (B)	 Ionic solids

	 (C)	 Molecular solids	 	 	 (D)	 Amorphous solids

	 93.	 {ZåZ{b{IV _| go H$m¡Z-gm _mog~mCa Zm{^H$ Ho$ ê$n _| H$m`© H$a gH$Vo h¢ ?

	 a.	 129I	 b.	 57Co

	 c.	 57Fe	 d.	 121Sb

	 (A)	 a, b, c, d	 	 	 (B)	 Ho$db b, c Am¡a d	

	 (C)	 Ho$db a, b Am¡a d	 	 	 (D)	 Ho$db a, c Am¡a d

	 	 Among the following those can act as Mössbauer nuclei are

	 a.	 129I	 b.	 57Co

	 c.	 57Fe	 d.	 121Sb

	 (A)	 a, b, c, d	 	 	 (B)	 b, c and d only

	 (C)	 a, b and d only	 	 	 (D)	 a, c and d only

	 94.	 Li, Na, K Ed§ Rb YmVwAm| _| go H$m¡Z-gm H«$_e: naAm°ŠgmBS> Am¡a gwnaAm°ŠgmBS> Zht ~ZmVm ?

	 (A)	 Li Am¡a K	 	 	 (B)	 Li Am¡a Na

	 (C)	 Na Am¡a K	 	 	 (D)	 K Am¡a Rb

	 	 Amongst Li, Na, K and Rb, the metal which do not form peroxide and superoxide respectively are

	 (A)	 Li and K	 	 	 (B)	 Li and Na

	 (C)	 Na and K	 	 	 (D)	 K and Rb
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	 95.	 {ZåZ{b{IV H$WZm| _| go H$m¡Z-gm g_yh 13 VËdm| Ho$ A{H«$` `w½_ à^md Ho$ ~mao _| ghr h¡ ?

	 (A)	 `h (+3) AmŠgrH$aU AdñWm Ho$ ñWm{`Ëd H$mo B§{JV H$aVm h¡ 

	 (B)	 `h (+1) AmŠgrH$aU Ho$ ñWm{`Ëd H$s Amoa bo OmVm h¡ 

	 (C)	 BgH$m AmŠgrH$aU AdñWm na H$moB© à^md Zht 

	 (D)	 `h (+2) AmŠgrH$aU AdñWm Ho$ ñWm{`Ëd H$s Amoa B§{JV H$aVm h¡ 

	 	 Which of the following statements about the inert pair effect in group 13 elements is correct ?

	 (A)	 It leads to the stability of (+3) oxidation state

	 (B)	 It leads to the stability of (+1) oxidation state

	 (C)	 It has no effect on oxidation state

	 (D)	 It leads to the stability of (+2) of oxidation state

	 96.	 {ZåZ{b{IV A{^{H«$`m na {dMma H$s{OE 

		

CH3
H3C
CH3

Br2
CCl4

CH3

H3C

CH3
4
3

2 1 Br
∗ ∗

Br
(A)

		  _w»` CËnmX (A) _| C1, C2 Am¡a C4 Ho$ÝÐm| na {Ì{d_ agm`Z H«$_e: hmoJr 

	 	 Consider the following reaction

		

CH3
H3C
CH3

Br2
CCl4

CH3

H3C

CH3
4
3

2 1 Br
∗ ∗

Br
(A)

	 	 The stereochemistry at C1, C2 and C4 centres in the major product (A) will be respectively

	 (A)	 (1S, 2S, 4R)

	 (B)	 (1R, 2S, 2S)

	 (C)	 (1S, 2R, 4S)

	 (D)	 (1R, 2S, 4R)
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	 97.	 (E) – 4 – ~«mo_mo – AmŠQ> – 4 – B©Z H$m CH3ONa/CH3OH go A{^{H«$`m Ho$ níMmV ~ZZo dmbm _w»` CËnmX h¡

		  Br H

CH3ONa
_w»` CËnmX

CH3OH

	 	 The major product formed when (E) – 4 – Bromo – Oct – 4 – Ene is treated with CH3ONa/CH3OH is

		  Br H

CH3ONa Major product
CH3OH

	 (A)	

H H

C = C = C

	 (B)	

	 (C)	

	 (D)	



	 -30-	 70

	

	 98.	 {ZåZ{b{IV A{^{H«$`m _| g§^m{dV CËnmXm| H$s g§»`m h¡/h¢

		

Cl

*

*14C

NaNH2

Ðd NH3

CËnmX

	 	 The number of possible products in the following reaction is/are

		

Cl

*

*14C

NaNH2

liq.NH3

Products

	 (A)	 4	 (B)	 2	 (C)	 5	 (D)	 3

	 99.	 [Cr(CO)6] g§Hw$b _| EH$ CO g_yh H$m {dñWmnZ R3P Ûmam hmoZo na àmßV CËnmX g§Hw$b H$s g_{_{V Š`m hmoJr ?

	 	 Substitution of R3P for one CO in [Cr(CO)6] results in a product, the symmetry of new complex will be 
	 (A)	 C4V	 (B)	 D4h	 (C)	 C2V	 (D)	 D2d

	100.	 {ZåZ{b{IV _| go H$m¡Z-gm H$m~©-YmpËdH$ `m¡{JH$ _mZd eara _| nm`m OmVm h¡ ?

	 (A)	 {_WmBb {b{W`_

	 (B)	 {_WmBb H$mo~mbm_mBZ

	 (C)	 gm`Zmo H$mo~mbm_mBZ

	 (D)	 {_WmBb gmo{S>`_

	 	 Which of the following organo metallic compound is present in human being ?

	 (A)	 Methyl Lithium

	 (B)	 Methyl Cobalamine

	 (C)	 Cyano Cobalamine

	 (D)	 Methyl Sodium
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	 6.	 Before answering on the Answer Sheet (OMR Sheet), the candidate should carefully read all the instructions in the 

Question Booklet and Answer Sheet.
	 7.	 The candidate must write his/her roll number, subject, correct question paper code, number of answered questions 

and number of unanswered questions neatly on the Answer Sheet (OMR Sheet), otherwise the Answer Sheet will 
not be evaluated and the entire responsibility will be of the candidate himself/herself.

	 8.	 The candidate has to darken only one circle or bubble indicating the correct answer on the OMR sheet using  
black ball point pen only. If more than one answers are marked, it would be treated as wrong answer and it will not 
be evaluated.

	 9.	 Once answer is marked in the Answer Sheet (OMR Sheet), no change is permitted.
	 10.	 Candidate should not fold the Answer Sheet (OMR Sheet).
	 11.	 You are to mark your answers on Answer Sheet (OMR Sheet) only. When the examination is over, handover the 

Answer Sheet (OMR Sheet) to the Room Invigilator.
	 12.	 In case of any discrepancy between the Hindi and English versions, English version will be taken as final.
	 13.	 If any candidate uses or attempts to use unfair means or creates any disturbance in the examination hall, he/she will 

be disqualified from the examination.
	 14.	 No candidate will leave the examination hall until 120 minutes (two hours) are completed.
	 15.	 Rough work, if any, should be done on the blank sheets prescribed for this purpose only. No extra sheets will be 

provided.
	 16.	 Use only black ball point pen for writing your roll number etc. and for filling in the answers on the Answer Sheet 

(OMR Sheet).

Do  not  open this  Question  booklet  until  you  are  told  to  do  so.
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